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(1) Fefaw g (2) s fard W
(3) iy & g (4) w1 g

Which of the following methods i used for measurement of distance between Earth
and planets ?

H15

(1) Parallax method (2) Direct distance measurement
(3)  Slope tapping method M) Ecbo method
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fagaa ama, 5mWWmmWWWQMWaﬁ
el fdt favara wgw a8 = e ? %= T
(1) 726V M aeies ™7V (@) 466V y =38y
T, e ot 02 _ o it i r sl
(3) 1500V 8 vel_—"(4) 150V e o gop
When a potential difference of 33 V is applied to a device whose resistance is 110-(2,
some current flows through it. If the same current is to be passed through a device
whose resistance is 500 Q, then how much potential difference is to be applied ?

Vv
(1) 726 e *3\? (2) 455V

(3) 1500V @) 150V .

.
. -
% * e

g:?ﬁ_ 'é'_'

3.

areher Jafits ST T FoR o ?

(1) e (H) (2) foefea

(3) = (o) (4) TSR (FegOy)
Which one of the following is a natural magnet ?

(1) Copper \ﬁf Silicon

(3) Zine (4) Lodestone (Feg0,)

HAR (ET3E Fedieee df) & B e

(1) g whE

(9) weaTeA geureA el AT

(3) gasfs A=H

(4) OFEEETE geeiedl FEqet Tl snfor fedt arvamard
SONAR (Sound Navigational Ranging) technique is used for
(1) Prenatal examination

(2) the study of heart valve action

(3) Geological study

J‘{) measuring motion and position of the submerged objects like submarines
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(1) Mﬂﬂ.ﬂlﬁmﬁﬁmm Pz ‘_‘.,:.‘—‘-' £
50 km Lo Tim
00 0 . B (2) 1250 m
(3) 800 A melr L
m 2 T
Ca]cu] (4) BO lem d
- i
: aneh::'e thﬁ: distance travelled by a sound wave having f?equency 1000 Hz arl’(
m,if it travels for b seconds in a certain medium. Jis ‘;ﬁ‘i’,—,
“O 50 km W 2 z
)3, - (2) 1250 m
‘ | (4) 80km

\
. 2w

Tt Uk Wiw q@ell R, W aH GWdAd Aremdie ®E 30 @9 FEeAE,
(1) ﬁﬁﬁuﬁm ¥ q0l2-)

e (2) 1 g A
- (4) 12

i ;a{l)t(;s Sitting in between two plane mirrors. If the angle between two plane mirrors
egrees, how many images of the cat will appear ?

o il @ 1

8 1 @ 12

WAoot o e S wsh g Frefon 2

1) @) IR

(3) sfrefi= (4) st sffee
Which of the following plant hormone is responsible for senescence ?
(1) Auxin (2)  Cytokinin

(3) Ethylene 4 Abscisic Acid

et

i we g, A e v F1 fdidier w6 ad sheifeeien v i1 s sw 0

(1) e (2) 9=
3) — L bRl (4) = snfo fres arm fyso
2R | female individuals in F} : :
i1l be the eye colour of al : s in F1 generation when a white

ewedhatf:na]e Drosophila is crossed with a red eyed male Drosophila ?

y) s (2) Red

1
( (4) Mixture of Red & Blue

3) Mixture of Red & White
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(a) fawmpien st wte eEe e
(h) 'ﬁmwmﬁqmmmNA)mﬁm
(&) RNA I iy () s s sl
(d) g Ao (e ) wfa o

ot 39

(1) (a), (b, (d) (2) (a),(b)(c)

(3) (a),(e) (@ (4) (b),(c), (d) iatic
Viroids are identified on the basis of which of the following three chara
features ?

(a)  Much smaller in size than viruses

(b) Consist of circular RNA molecule

(¢) RNA molecule covered by protein coat
(d) Infect the plant cells

Answer Options:
(1) (a),(b), (d) (2) (a), (b), (e
(3) (a),(e),(d) (4) (b),(e),(d)

10. EEfEtd S ggid A g2 Rd ?
(a) T8 M A A
(b) wHH HIdl G Foeret T
(c) vl e
(d) A
ﬂ'di'd’l'ﬁﬂz

(1) w4 (c) Ff (d) (2) W (a) 30fon (b)

(3) (a), (b), (c) 3R (d) @) (a), M), () 3nfor (d) Ar ey
Which of the following substances are components of soil ?

(a) Stonesand sand

(b) Fine soil and decomposed matter

(¢) Chemical substances

(d) Colour substances (Dyes)

Answer Options :
(1) Only (¢) and (d) @)
Onl
(3) (a), (b), (c) and (d) i~ ¥ (8) and (b)

None of (a), (b), (¢) and (d)

areva FHATATS! AT | SPACE FOR ROUGH wonn\
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Wit et arreft arad) ameeft s 2

D et s s _+afét~;aﬂ-+$a—-»#“45ﬂ

(2) wam»mfg‘(—;m—rﬁuaaﬂ—»ﬁ

B3) S - g >t o wfd s Fa g

(4) W—#ﬁﬂﬂa’ﬁ—;ﬂfg‘{ﬁﬂﬁ—)mﬁm

Which steps of taxons are followed for classification of animals ?

(1) Species —» Genus —'Order - Class - Family - Phylum —» Kingdom

(2)  Kingdom -5 Genus —» Order — Species — Phylum — Class —» Family

(3)  Genus - Species —» Phylum —» Class — Order — Family — Kingdom
~—(4)  Kingdom -» Phylum - Class - Order —» Family - Genus — Species

e ———

11,

12 e @ fmien s 3w e e T e g, 3 A
Ifaw aew uwiHmey T 3T Same) @redte fFar Tear -
(a) 3IFEFa
(b) o
(¢) du 9%
(d) 391 yam
el s faum/faas st smq 2
(1) % (a) (2) % (a) 30fr (b)
(3) (a), (b), (c) 3711 (d) (4) (a), (b) 3T (d)
Ecosystem is a self-regulatory and self-sustained structural and functional unit of
nature where biotic and abiotic components are linked together with the following
processes :
(a) PTOducthltY
(b) Decomposition
(¢) Nutrient cycling
(d) Energy flow
i bove is/are correct ?
ich of the statements given a
Wi (2)  Only (a) and (b)

(a)
(1) Only (4) (a), (b) and (d)

@) (a) (b), (¢} and (d)
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foeget it an st sioh s gt e Ao . A i T
(a) foen s sta s auft wevrm, :

(b) mmmmquﬂmmﬂmﬂmw
() feztrom wrfter sy sitaefienia snfin exafia # H9 FEA.

(d) wwATE., Rumua., v foa, f @cs s@dmEEEEE 5w

Sl v faum /faum st sme/a 2
(1) (a), () anfor (d) (2) wFd (a) #AM (c)
(3) wF (d) (4) wF (b) #AT (d)

Pituitary gland is endocrine gland connected to hypothalamus at the base of the
brain. It secretes many hormones.

(a) Itis called as master endocrine gland.

(b) Its anterior part is neurohypophysis and posterior is adenohypophysis.
()  Oxytocin and Vasopressin are secreted by posterior pituitary.

(d) STH, TSH, ACTH are secreted by adenohypophysis.

Which of the statements given above is/are correct ?

(1) (a), (¢) and (d) (2) Only (a) and (c)

(3) Only(d) (4) Only (b) and (d)

et e el B 2

(1) fewmidie @) fermgiim
(3) feemgwm (4) THEEH
During Krebs cycle in respiration, fumaric acid gets converted into malic acid by
(1) decarboxylation (2) dehydrogenation
(3) dehydration (4) hydration
feameedl shreiren U ST &1 FETEAT T S ¥ A s,
(1) STt (2) wgaEE
(3) wGTHHE @) swHE Fh
In a diamond, each carbon atomis_____ surrounded by other carbon atoms.
(1) linearly A42) tetrahedrally .
(3) tetragonally (4) octahedrally
. fofmmen svpEE TR
(1) 03 (2) 04 3) 02 P
An atomic number of Tritium is )
(1) 03 (2) 04 3) 02 55 i
2T FHTATATS! ST / SPACE FOR ROUGH WORK —
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?1) Vot VWS v averaidte v g GHi 70% Wi .
3) o ' (2) wefEEa
The (4) il':i”'amﬂ
th ————— part of the Earth's atmosphere contains about 70% of the total air in
¢ atmosphere,
E;; i::ﬂtos;)hem (2) Mesosphere
ermosphere ~(4) Troposphere

18, ;
;T%@%mm_w.ﬁgmsﬁsﬁ-ﬁgm?ﬁﬁ(ﬁ-'«ﬁ--ﬁ-ﬁ-);
-3 N @R, i) 3 e S o T (B, - )

@ Fli B .
O RS -RS <R st < "3, - &30

(2) ﬁ%ﬁ -S> s —ds > g9
@) . T3 - ER, < fa - A, < RS d
@ RS -4 >3 —d > B, - Rt

The electrostatic repulsion between electron pairs such as lone pair — lone pair
(Lp. - Lp.), bond pair — bond pair (b.p. — b.p.) and lone pair — bond pair (1p. - b.p.) in

a given valence shell decreases in the order of
(1) Lp.-Llp.<Lp.-b.p.<h.p.-b.p.
(2) Lp.-Llp.>Lp.-b.p.>b.p.-b.p.
(3) b.p.=b.p.<lLp.-Lp.<lLp.-b.p.
(4) lLp.—-b.p.>bp.—b.p.>Lp.-1lp.

3

)
1%

19. _ @l S 9 17 e , o
[H=1,C=-12,0=16,I='127] :,
(1) 250 7" A THeH (2) 223w FdT TETHEEE "
(3) 4537 7o (4) 1079 g
The maximum number of molecules are present in c |
TR A

= C=12,0=16,I=127] (o2 4
> (2) 22 g of carbon dioxide (.
(4) 10gofhydrogengas ~, ¢

sndi tal
A1) 2505:0“"""‘9“”3;% Dy

e

(3) 458 of water ¢ =
W fadfid s
90, V2l7 B v e

(1) +‘5 ion state of V in Vo07* is :

The oxida 2 -5 8 +4 o ki
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21,  ‘gudw Awwdad Pt swae e gegweAd Wi!’ri*.‘“aﬁ' i'm ik, @
Tl Afres sm. @ e AT e A T e s WA T
mmmmmmmmmf”“m‘ 1 Pifea 3o O
IS AR S e e i, iy fagepdren a@ :
Se.” 378 el wf wmed s 2
(1) véla sameEna J7e (2) @A, 1A
A3 = s (4) %m, g e
“Directive Principles is a novel feature in a constitution framed for p‘?lrhm:lbe i
democracy. They have no binding force. But whoever captures bt s les. He
to do what he likes with it. He will have to respect the Directive Pnnc: £ law
cannot ignore them. He may not have to answer for their preach in a court of &%,
but he will certainly have to answer for them before the electorate at election time.
Who said this ?
(1) Pandit Jawaharlal Nehru (2) B.N.Rao
Dr. B.R. Ambedkar (4) K.M. Munshi
22, vraren fEas 9 weern whesmEEy e faus fEra
(@) ® Tgadiht weff s@vda snyen yegE UEA.
(b) A HaT= ~AFTEATA FEEAH da ST, :
() @ YEHEY HUATYHT WRATSA! Hate SATAeETAT §Ed ATl Iufeada w99 gar.
(d) a WRATSAT Fate AAEAH Heled] FsfHore =E] TgIa! TGEEd g1 &E THar.
Fiedh Fve faum /fQum stst s@a ?
1) % (@) (2) % (b) 3) e (@) 3 (c) (4] E (b) ST (d)
(Ilno‘;zisider the following statements about the Comptroller and Auditor General of
a:
4a) He holds office during the pleasure of the President.
(b) He draws the same salary as a Supreme Court Judge.
(¢c) Before entering upon his office, he swears an oath i
e e or affirmation before the
(d) Ig: u;:-?;' Ibfd:.moved by the President only after an enquiry by the Supreme
Which of the statements given above is/are correct ?
(1) Only(a) (2) Only (b) () Only (@) and () @) Only (b) and ()
23,  wrefEddl o gy AfEEn s ufgen s g o
(1) A gZAEH ' (2) =, gftfr areamf
@ @A, e il (4) T wrefgmef
Who among the following was the first Chair G
K- e person of the National Commission for
(1 Jayanti P:i.;n?i(l; : (2)  Dr. Poornima Advani
(3) Dr. V. Mohini Giri (4)  Vibha P ﬂrthaaarthy
Freeay] STATATS! ST | SPACE FOR ROUGH WORK g e T
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R - gL el I
WWWW.F&WWWWWW Fa
(']l)'”‘"qqmrmﬁwtzmmm stfiyn wuzm faden 2 ?
- w3z 168 (2) e 167
Whic:ii}-ﬂ 166 (4) =7 169
. abolishltiﬁ of th‘? Indian Constitution empowers the Parliament of India to create
resolution to til::atge Councils, if the Legislative Assembly of the State passes a
- effect ?
((;)) Artfcle 168 #2)  Article 167
Article 166 (4) Article 169
25,y ARG Hedl "
gy
: TSTET= Horeyy HIeBGA FGEER wate
4D gz 149 (2) TSR 145
@) geaz 147 (4) =T 143
AccO - i .
Indi:ti:;;gfto the [Provision of which Article of the Constitution can the President of
. or advice from the Supreme Court ?
(1)  Article 142 (2) Article 145
(8) Article 147 (4) Article 143
26.

443t wegEEt sfufiam 1978 gt wrefteR Hmn wd i s s 2
(8) et sl =nfies dan Fafor scvara e i o, y

b)) wfEen fsien wg wwa gRfemd v vl teede s S s
Je) nﬁuwwﬂmﬂwmmﬁmmﬁr@m@@ﬁa&wm

(@ g are v et g et a.

qgrdt I W

(1) (a), (b) 3000 (c) (2) (), (b) a7fer (d)

(3) Wad (c) MU (d) ~3) H (b) 3 (c)

Which of the following provisions were made by the 44th Amendment Act of 1978 2

(a) Provided for the creation of the All India Judicial Service.

(b) Empowered the President to send back once, the advice of the Cabinet for
reconsideration.

Provided that the Fundamental Rights guaranteed by Article 20 and Article 21
(c) -annot be suspended during the National Emergency.
d) Shifted five subjects from the State list to the Concurrent list.
(

jons :
Answer Optw;(c) @) (a), (b)and (d
1) (a),(b)an (4) Only(b)and (¢)

(¢)and (d)
(3) On-\;l;m C! SPACE FOR ROUGH WORK
ol e
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27, it Fn afiie e A s SRR Fa S

(@) sFpgfaa st @ safaa s aen seammard afd

(hy  wfeen gaefim wfid

(c) =M TEI Aftdt

(d) fasrofimmr afid

(e) 37ars wfiyd

ot I ;

(1) (a), (b) amfor (d) (2) e (b) 3f (c)
(3) (e), (d) 30T () (4) & (a) 3007 (b)

Which of the following committees contains representatives of both the Houses of !
Parliament ?

(a) Committee on Welfare of Scheduled Castes and Scheduled Tribes
(b) Committee on Empowerment of Women
—4¢)  Business Advisory Committee
#d)* Committee on Privileges
Ae)  Estimates Committeex
Answer Options :
(1) (a), (b) and (@

-@/ Only (b) and (¢)
(3) (o), (d and )

(4)  Only (a) and (b)
28. YW IrgiE AT (veHl.) s T HIvre

PG T FOIT S0y 3173 9
(1) wem 337 2) =em 338

The National Commission for Scheduled Castes (S0 1. . :
of the Constitution ? i constituted by which Article

(1) Article 337 2) Article 338
(3) Article 336 (4)  Article 335

29. 13fedew, 19465 i W s

(1) = FIrert (2)  wiifef ey ST Higey
On 13th December, 1946

Constituent Assembly of India.
(1) Sucheta Kripalani

Sarojinj Nas
(3)  Dr. Rajendra Prasad @) aidu

Pandit j,
Wahar]g)
&EET PIHIIS! ST | SPACE FOR ROUGH WORK Py
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o et R ey vy P
W i WEENE (Departmental proceedings) %T"Tm a v Afuw q@ foran
féaﬂma TS v s dan s HA AT ;
S Sy s -
(1 : a 5 o 5 by grfor wprEredt qUd
: gﬁw HIA H (self-incrimination) 2041 dred @ 2 gl
g S , -
% (e) m’ﬁ“?m"*iumumﬁmm st sufon framf swon 2 @z AL
Tt ey,
D 199 (a) g ) far (b) qE
@) T (a) s o) i (4) fard (a) wfin o) wiva
Consider the following statements :
(@) No person shall be prosecuted and punished for the same offence more than
once, including any departmental proceedings. : d
el © Protection against self-incrimination extends to both oral evidence an
documentary evidence, , L
(€} The protection against self-incrimination extends to both criminal and civil
Proceedings,
Answer Options ;
(1) Statement (a) is correct \ (2) Statement (b) is correct
(3) Statements (a) and (b) are correct  (4) Statements (a) and (¢) are correct
31. el faum faemm S, 9 vata faer

(a) uwaz%mwaﬁaan(mmmﬁmmmmmm_

(b) arier wiffes snfn wwrfies wwren awde GwEem wowER it
fagrmade srafiem @ @ 39 @ P

(c) M & AMeisndie waifus fawfaa foem sz,
IW :

f:;mﬁﬂﬁ(a)mﬁr(b)aﬁmma A R (@) wie

(3) faem (a) ST () SO SRA (4) @ faum @i smq

Consider the following statements and choose the correct option :

ial provisions for Nagaland are made in Article 371 (A).
(a) The specxth Parliament in respect to the religious or social practices of Nagas
(b) No &;;:: of liz'd without the approval of the Legislative Assembly of Nagaland.
can be app

is the most developed district of Nagaland.

) Tuensang
Answer Options ‘} and (b) are correct  (2)  Only statement (a) is correct
(1) Statements (a d(c)arecorrect (4) Al the statements are correct
) and (€

tatements (8
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13

el s saren waa i g aw 78 7
(1) et wfi syagar s ardierar e T
(2)  weyen siata fasamed geEy 9
(3) wndangel wraifae
p s P
S&:’1;11c;ﬂ:::”ﬁ:;hq(;rg;[cJllowing is not a Panchsheel principle of' India’s foreign [;ollcy !
(1) Mutual respect for each other’s territorial integrity and sovereignty
(2)  Mutual non-interference

(3) Peaceful coexistence
}é) None of the above

arefia faur faemma gm0 2 vatg frer -

(a) 2011 \elt 97 =1 HeATgEAER ‘FErl) wear B fawy TSR HHITEE FOAE A
(b) HF=BZ 19(1)(c) HE Brehrll GegT T HOATE] AT T H0Fd AT

(1) (a)?:';Tﬁl(c)ilﬂﬂ'(-mi?r (2) (b) 3T () ST 32T

(3) (a) 37T (b) aler smm&e (4) faedt faumy s amed

Consider the following statements and choose the correct option :

(@) The subject, ‘Co-operative Societies’ has been included in the Constitution
India by the 97th Amendment in 2011.

(b)  The right to establish ‘Co-operative Societies’ is given in Article 19(1)(c).

(¢) The first law related to Co-operative Societies in India was passed in the tenu
of Lord Curzon. o r

Answer Options :
(1) (a)and (e) are correct (2)  (b) and (c) are correct
(3) (a) and (b) are correct ~~{(4) All the three statements are correct

WU WA ST [ SPACE FOR ROUGH WORK

quﬁﬁm%wﬁ(uﬁzau)mmaﬁwﬁﬁmgﬁﬁmﬁu
(1) a:aséaanwﬂmaﬁm%awﬂaamamﬁwmm R 2
(2) aﬂﬁaaumaﬁmﬁmmmagﬁmm I s - :
rmc,omcmémﬁmg?mmmmﬁ Tafie amg e

) #gE9E 311 1 TR} y
= (Temporary) FH=T=21 A1, () il o A R, IR

Which one of the following statem
employed in civil capacities under the Article 31
(1) Protection under Article 311 is not avai a0 @911 s nog rrect
(2) The employees of statutory c:orporaﬁt‘;ﬁ:;l:a;las,tocllf.J ilitary Personne). '
entitled to the protection of Article 311 e b
(3) The provisions of Article 311 1
and not to temporary servants.
(4) Suspension of government servant from
removal and is not within t}

ents about digm;
Union or State ’(‘“SSal or rem

Service i
e scope of pmtect'ewlce 18

11
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et oy Feremre vy .
" N SyEre w2t (panel of Chairpersons) a2 @l@ar sAeal Hzemyg

m‘ .
g ﬁwmwwwﬁmmmﬁwﬂmuﬁaﬂmmmm
(&) mmmﬂwﬁaﬂm. :
maa“'mmwﬁﬁwﬁwwmaw%mwﬁ?ﬁamﬁ%
WWWWWWWMW.

o /e v sk s 2
(1) B () (2) % (b) (3) (a) 307 (¢) (4) afferd vt ard

Cons;j i
= sgier the fol]omg Statements :

megagle?s_c’f Chairpersons is elected by the Lok Sabha from amongst its

t
(c) Iheaoﬂic:czf the Speaker or the Deputy Speaker is vacant.

s by the Presid(;nt.
e clagf the Statements given above is/are correct ?
y (a) (2)  Only (b) @) (aand(c)  (4) None of the above

Lo %%2014‘1%521?;@32@.
4b) 2014tl€_hlﬁmﬁﬁshaﬁ1amaam

J'h (a)anﬁr(b)iﬂi't (2) % (c) waw

3) (@), (b) 3for () fordt it @) (a) 37 (c) wirm
Choose the appropriate option among the following statements -

(a)  Crimea was a part of Ukraine till 2014.

(b)  Russia annexed Crimea in 2014.

(¢)  NATO consists of 30 member countries,

Answer Options :

(1) (a)and (b) are correct (2) Only (c) is correct

(3) (a), (b) and (c) are correct (4) (a) and (c) are correct

37.

QQKQWW mmwwmmmﬁﬁgﬁm

(Tﬁ :2% ‘d’? famd. (2) ZSEnL (3) 7.9.um. . (4) 3.0\, 3m 3,
ol TN : h Kumar has been appointed as the
ice Chancellor Mamidala Jagades
Former JNU Vice

Chairperson of which institution ?

’ UGe (3) UPSC (4) ISRO
(1) NCERT =y

& / SPACE FOR ROUGH WORK
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38.  idn W smy wdren witwn Trén v sitE 2 g, 20210 @@ E ko
et 2
(1) 9errer b (2) @4 2@
(3) Tl weh (4) ®Her #E
Who amongst the following was chosen as the ‘Time Person of the Year, 2021" by the
Internationally acclaimed magazine — Time ?
(1) Malala Yousafzai (2) Ratan Tata
A3)  Elon Musk (4) Kamala Harris
39. SR 2022 WX . FEIEETR A fiva @, F Fhoren S Ga 89 2
(1) vt (2) guaEeE=
(3) femwiiar 4) sfm
R. Nagaswamy died in January 2022. He was related to the field of
(1) Environment £2) Archaeology
(3) Painting (4) Acting
40. aﬁwmémﬁﬁah-mmmﬁ@m IS W& Fe 9
& == (2) w9R
(8) 3w =i (4) o i
Which country launched the Hwasong-12 mid-range ballistic missile ?
(1) China (2) Japan
(3)  North Korea (4)  South Korea
41. mmgwﬁmmﬁmmm_ s o

[6)) memmﬁﬁzm,
(2) Wmmmmﬁmﬁmmmm

(3) mmmmllwmmmﬁw
44) W wuty fgven gl A A T,

me elements frop, Chriatianity
' so

they are targ,
et
W] FTHITS S | SPACE FOR ROUGH wmmwd
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4. 2022 - 23 i Wfa sddwmeara swhrf Fofen e iy BT
() 20% % sfiyas ayest (f1m)
‘2 26% w wifie g (i)
B) 30% @ stfi Jum (i)
) 35% @t sifire 3y (8m)
tral
H_OW much tax would be imposed on Cryptocurrency, as declared by the Centr
Finance Minister, Nirmala Sitharaman in the Budget 2022 23 ?
(1) 20% tax plus cess
(2)  25% tax plus cess
(3)  30% tax plus cess~
() 35% tax plus cess
A8 e 3 S 3 2022 et sreeh o st s e s e 2
LG G (2) am T
(3) deeh Cirac:| (4) gg‘q 'gﬁqﬁq
;‘g;i"h racing driver won the Saudi Arabian Grand Prix Tournament held in March
27?
(1) Charles Leclere (2) Max Verstappen
(3) Valtteri Bottas (4) Lewis Hamilton
44.  goam & fawdt gdieth Som e seimr am 2

Foedl

(@) I 9PN FRERE “Aiear Wigk” 378 TR,

(¢) 3etEre geyer I radivat wén & qeammdie wfag wher & s,
it I

(1) e (a) (2) % (b)

(3) W (c) (4) R T

Which of the following statements is incorrect about Pulwama ?

(a) Itis known as the Rice Bowl of Kashmir.

(b) Veshu and Jhelum rivers are flowing from Pulwama.

Aharbal Falls and Avantishwar Temple are famous tourist places near
(c)

Pulwama.
Answer Options: (2)  Only (b)
(1) Only (a) (4) None of the above

Only (¢
af.;:-aﬁ — 1 | SPACE FOR ROUGH WORK

S
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H15

N 17
i aﬁ?mam fosita cha 414 arar 2022 99 T g FE ST
(b) e sichofia, 2012 a6 fasim den @i Htes fiesfa Lk
() faaim et & gdiwmug &1,
it 391 ; a
(1) (a) T (2) (a) P (b) T
3)  (a) anfin (c) s (4) o fav wia e
Choose the correct option. :
(a)  Deon Lendore of Trinidad and Tobago died in a car accident in January 2022,
(b)  He won a Bronze medal in the London Olympics, 2012.
(¢) Deon Lendore was a Chess Player.
Answer Options :
(1)  Only (a) is correct (2) (a)and (b) are correct
(3) (a) and (¢) are correct (Ol) All the three statements are correct
46. mmmmmmmmwmma@mw
FEG H 1R ?
1) fafesy (2) wofig
(3) smam (4) evITES W2y
Which State has signed Bollywood actor Sanjay Dutt as the Brand Ambassador for
its Golden Jubilee celebrations ?
(1) Sikkim (2) Manipur
(3) Assam (4)  Arunachal Pradesh
47,

(3) wmifaes g FEe (WHO)
(4) HAATEE AT GEeE (UPU)

Which of the following UN specialized agencies hag
co 23
formation ? mpleted 100 Years of its

(1) International Labour Organization (1LO)
(2)  Food and Agriculture Organization (FAQ)
(3)  World Health Organisation (WHO)

(4) Universal Postal Union (UPL)

Free] BIHTAIS! ST | SPACE FOR ROUGH WORK R B L
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St P O
H15 18 |
Rl 7

@ 0 e sy e e e 98 geehaed gt . &
(b) U mm‘ﬁang’m FeAS] FATIH B
Bt e

) W w9019 e vodh @ AR e A

T Iy

(1) (a)anﬁr(b)aﬂaz;mga (2) W (c) ATrat 3R
@ @), ) fn o) foelt st amn @) (@) ST (o) wET R

Consider the following statements and choose the appropriate option :
(@) Padma Shri Awardee Milena Salvini was born in Italy.

(b)  She was a famous Kathakali dancer and had established a dance school named
‘Centre Mandapa’ in Paris,

(¢) The Indian Government honoured her with Padma Shri Award in 2019.
Answer Options : I

(1) (a) and (b) are correct (2) Only (c) is correct
() (a), (b) and (c) are correct (4) (a) and (c) are correct
49, W%WWW‘WW%M?
(1) % (2) wHam.
(3) @t (4) e
Which bank has became the first Indian Bank to have an office in Australia’s
Victoria State ?
(1) Dena Bank 42) SBI
(3) BOB (4) PNB
s0. i g8 wfed=a e 377 Wl JE FHrn favarn g o 2
(3) =R (4) s
Section 377 of the Indian Penal Code (IPC) is related with which of the following
subjects ? i (2) Homosexuality
(1) Temple entry (4) Surrogacy

3 Adultery e

WORK
vt o | SPA

aazdl
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B R
- e e < e g FEGIT
51, Ui el ‘aife $fEw R
e wreatd B duen s g ?
(1) % & () T
(4) wurenfoft #1
3 faum aw : ' at the national level,
Before the formation of ‘All India States P(_aopl.e Congressm " ise the concerns at
which of the following organizations was active in Kolhapur
the people ? '
(1) Lok Sabha (2) Rajya Sabha A
(3) Vidhan Sabha _ 41" Paropakarini Sabha”
52. fasitg =asht T
(1) @, (®.) =it feden (2) g s
(3) |M e (4) foa sl
Pick out the odd person from the following :
(1) Dr. (Mrs.) Laura D’Souza (2) Sudhatai Joshi
(3) Sane Guruji (4) Hirve Guruji
53. 1957 =1 wifhe fawas usda s STeman w0 g ?
(1) 3rgaw am™ (2) TS qft
(3) giers S (4) 7iETs WrTEd
Who was the president of the 1957 National Commission for Female Education ?
(1) Anutai Wagh (2) Shantabai Dani
(3) Durgabai Deshmukh (4) Durgabai Bhagwat
54.

(a) @& "SR (b) TS Wi
(c) TS TYad (d) STgETRE T
qarE 39 :

(1) % (a), (c), (d) (2) %% (a), (b), (¢)

(3) 4 (a), (b), (d) 4) (a),(b), (c), ()

After passing away of Dr. Babasaheb Ambedk

Dr. Ambedkar, became members of the Congress ? *: Who from the followers of
{a) R.D. Bhandare (b) Rajabhay Bhole

(¢) Dadasaheb Rupwate (d Ba
pusah . o
Answer Options : b Rajbhoj

(1) Only (a), (c), (d)

(2) Onl (
(8) Only (a), (b), (d) y(a), (b), (¢)

(4) (a), (b), (e), (d)

Froe] FHTHTATE! ST | SPACE FOR ROUGH WORK
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H15
65,

56,

B
20 P
W“‘ﬁ@mmmmmmzﬁmw -
g A I S (2) W& AR
(8) = T 7 ey (4) uAde 9 ATl

. ring the British
Which of the following two places in Mumbai had Salt Markets during
time ?

) CSMT, and Wadala (2) Bhendi Bazar and Wadala
¥ Chami Road and Wagaly (4) Panvel and Wadala

R 57 o s s fndr ot sttt e e G 2
) S gt argean

#2) AR vigin wgea

3) .M. giepg

4) = = Jem

Who had established the Manav Dharma Sabha at Surat and Paramahansa Mandali
at Bombay ?

(1)  Atmaram Pandurang Tarkhadkar
(2)  Dadoba Pandurang Tarkhadkar
(3)  R.G. Bhandarkar

4) KT Telang

,E?\

3 A faweft ausfiean oifedt sgeren TelHF-3-Iez B U9 Foft ferdren 2

(1) wewg e (2) wfeash

(3) %= sga (4) JogE o

Who wrote the book called Tahgig-i-Hind, which gives a detailed description of
North India ? '

i (2) Al-Biruni
ahmud Ghazni
(1; Ih: Ba:tuta (4) Abdul Razzak
(3 n
e et w18 fasm Fm 2
A8 T Te weaTyH T HEpd vighos
-~ YATTTE (4) <A
(3) e | :
following is a large Mesolithie site in Rajasthan
e (2)  Adamgarh
gl 4 (4) Chopni-Mando
h
y Pratapgar
o orm | SPACEF Won ROUGH WORK
Faazil
e
o T S N N I
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50, wresn wmE
upraTad Ll
(a) wrh () fafaem
b W (i) swana
(¢) WM™ (iii) 3704
d) == (iv) saada
watft 3,
(a) (h) (c) (d)
(1 G @ (iv) (D
@ i) (iv) () (iii)
3 (Giii) tiv) (i)
@ Gv) (i) (i) (i)
Match the following :
Mahajanapada King
(a) Kashi (i)  Bimbisara
(h)  Kosal (ii) Ashwasena
(¢) Magadha (i) Udayan
(d) Vatsa () Prasenjit
Answer options :
(a) b (e (d)
(1) Gi) @ v Gi)
(2) i) (iv) iY) (iii)
@ o Gilr  Gv i)
@) Gv)  Gid) ) W
60,

(1) st goan (2)  zferm firy bhabacho T
(3) e ardh @) iy

By which reward was V.R. Shinde folicitated in 1932.33 |

(1) Bamajik Puraskar @ th::‘hishhcr s

(3) Dalit Bathi

O AN PR WO TS prorp st L T

PTo

-
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H1s

61, E—
wizm

1) a._wa
(3) T A

HOW
Pare
(1)

(3)

62,

nNts wh

22 B

mm-ﬂ .
W%Tﬁﬁ? W“mﬁﬁmmmmm@wam

(2) 7%
Much fine wag linrg 4) =@M .
0 did not send the:i:z; dl::nth by Chhatrapati Shahu Maharaj from the
Two paise n to school ?
(2) Three paise

Five paise
(4) Ten paise

ke Foa ﬁmqm,&m W%/an%a "

(1)
(2)
(3)
(4)

F4 (a) T ()
FF (a) AW (d)
e (a)
%4 (b)

Which Act was sanctioned by British Parliament on 18th iy, o

(a)
(b)
(c)
(d)

Indian Partition Act

Indian Independence Act
Draft Constitution Act
Constitutional Amendment Act

Which of the statement/s given above is/are correct ?

(1) Only(a) and (¢

(2)

Only (a) and (d)

(3) Only(a

(4)

Only (b)
e L
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I e T

1
B 23 ) trafeer
e sorafén - wreen wfeREA fEgEa @
63. Wram Wghw@y swe o wEn
S v wuen Hi3 v Feft ? freeft
- S aul W)
(a) wad (b) mTg (c)
g I
(1) wad (a) 3o (b) (2) wad (c) 3T (d)
(3) e (a) @) w (d) :
4bF hed by
Where was the Hindustan Socialist Republican Association .‘,’Stabhs
revolutionaries like Chandrashekher Azad and Sardar Bhagat Singh * 2
(a) Mumbai (b) Nagpur (© Kolkata (d) De
Answer Options :
(1) Only (a) and (b) (2) Only (c) and (d)
(3) Only(a) (4) Only(d)
B4. 1757 =1 SIS STt S R S S0 S FaT R0 R Hel ?
(1) =™ A2) T @ fww (4 e
The British appointed Mir Jafar as the Nawab of after the Battle of
Plassey in 1757.
(1) Madras (2) Bengal (3) Bihar (4) Orissa
A5, 3.8, 12067 1290 1 Fe T HANT ToH SO0 TG Foft e 2
(@) WEqg TEA
(b) HE=Z Tl
(c) FIgEH WH
(d) geqafim
Tt Hior faum/faus st smea 2 ‘
(1) % (a) 3T (c) (2) % (b) sy (q)
(3) % (a) O
Who founded the Slave Dynasty which ruled from 1206 to 1290 2
(a) Mahmud Ghazni
(b) Muhammad Ghori
(e) Qutb-ud-Din Aibak
(d) Itutmish
Which of the statement/s given above is/are correct 7
(1)  Only (a)and (¢) l(2) 0
(3) Only(a) @ oy ®) and ()
) Only (¢)
WO STHHTE SN [ SPACE FOR ROUGH w_
P.T.0

L e—
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H15
66, LG it fmy

9&T ;
£ SR 0TS R 9019 7 syt s :
A A i,

24

D R (o) wivay s @ fasm (b) aiEr s
gl; ﬁm(a’mﬁ'(b)aﬂmw@a (4) faum (a) snfor (b) @tz @
se

rve the following statements :

?ﬁi 2“3“ ¢yelonic storm originated in May 2019 in Arabian Sea.

agar cyclonic storm disrupted properties on South Konkan coast.
Swer options :

(1)  Statement (a) is correct (2) Statement (b) is correct

(3)  Statements (a) and (b) are correct (4) Statements (a) and (b) are incorrect
67. Wmmwm@mmmm

BN 0T 37,

(1) W% (Jeme) (2) FrEE (i)

3) s () (4) et g

Research was done at with reference to the Middle Age and Copper Age

in terms of human settlement in Maharashtra,

(1) Patne (Jalgaon) (2) Hatkhamba ( Ratnagiri)
(3) Inamgaon (Pune) (4)  All of the above
68. SISl &El . :
aw/am I i g
(a) WA (Q oS
(b) W|EF AATH () T
(d) serAfeEn iv) #u
gatdt 39 :

(a) (b) (c) (.d)
(1) @) (11) Eu;1 8;')_

(iv) (iii) ii)
g; (;) (iv) (-13{) ?1)
4) (iv) (ii)_ (iii) i
}Match the following :

Area Shifting Agriculty
e B gt
(a i 1 ca
(b CelATRES (iii) Milpa
(¢c) Braz (v)  Jhum

@ [ndonesia
1 S
Answe;’ "pt"::) () (_d))
f”; (i) o R
(1) fj (iii) (ii) &
@ MY gy o G
@ ® gy G O

iv) WORK
4) pACE FOR ROUGH
o ISPACE FOR
Eaazll
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69.  wiEEn g4l
wul
(a) ufpe fagma (i)
(b) faga g fugm (ii)
(c) dimiy fagia (iii)
(d) wream fagia (iv)
it I
(a) (b) (e) (d)
(1) (i) (iii) (i) (iv)
(2) (iii) (iv) (i) (i)
(3) (@v) (ii) (iii) (i)
(4) (i) (iv) (ii) (iii)
Match the following :
Column 1
(a) Cepheid Theory
(b)  Electromagnetic Theory
(e) Nebular Theory
(d) Binary Theory
Answer options :
(a) (b) (e) (d)
(1) (i) (iii) () (iv)
(2) (iii) (iv) (i) (1)
(3) (@iv) (ii) (iii) (i)
(4) (i) (iv) (ii) (iii)
70. & et it
(1) #eien

3) fazmdensam

The father of Human Geography is

(1)  Herodotus
(3) Vidal-de-la-Blache

25

=9 11
A
of. a7
AeFeR
digered

Column I1
(i) Laplace
(ii) Dr. Banerji
(ii) Alfven
(iv) Lyttleton

(2)

Hecatagy,

(4) Brunh,
TN FIIS S | SPACE FOR ROUGH WORK =
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LL > - . ;
(a) o ida i
o s ) 7
®) ey () g 2l Fam e
(© gy (if) e 3arr Fafia sm
D T yar (i) Wmﬁmmm
i (iv) g ST A
(a)
G oy @@
(2) (i) (ii1) (i) (iv)
3) (v (i) (ii) (iii)
4) (i) (iii) (iv) (i)
Match the following :
Types of Stream Explanation
(a)  Consequent (i) Stream develops valley across outcrop
(b)  Obsequent (i) Flow controlled by original slope
(¢) Subsequent (i) Flowing opposite to the dip of rock
(d) Braided (iv) Maze of interconnected channels
Answer Options :

(a) (b) (e) (d)
(1) Gw) (i) (iii) (i)
(2) (i) (iii) (i) (ivy”
(8) (iv) (i) (ii) (iii)
(4) (i) (iii) (iv) (i)

72.

wrefte faum e -
(a) Srem & fay F@e Ivd) s o ff e ai!auaa aTEq.
(b) uaes & TGy T gvmda 39 R,

gafdt I :
W Fo Y (a) 7R 3R (2) % faum (b) s amp
(3) fau (a) SN (b) T SR @ faum (a) 3 () wivae e

the following statements :
Obsel;fe]um is a tributary of River Indus and flows throy ok Take Foten

E:i Sutlej is a southern tributary of River Indus,
- ns :
Answer Optio  (a) i porrect (2)  Only statement (b) is correct

(1) Only sta;et?g; and (b) are correct  (4)  Statements (a) and

(b) i
(3) Stateme H WORK W
81 o | SPACE FOR ROUS
wedl
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73.

H15
27

wreftE ﬁ‘-ﬂe‘ el :

(a) YaU q FHA A FEEOAR foda S wheg TR

(b) WA YSRTEEA WA F4) 9Ed. :

(e) mamw@wﬂmmmﬁaﬁmmw'

vatdt I :

) faur (a) snfin (b) s A (@) oo (b) 30T (g) I ST

(3) faum (a) anfon (o) wirer R 4) et wd faum aget AEd

Observe the following statements : !

(a) Mountain located between Pravara and Kukadi river 18
mountain.

(b) River Manjira flows on Bal t Plateau. Lo

(c) Satmalaa?nd Ajantha mou&:l;;‘l;?n ranges are between Tapi and Godavari river
valleys.

Answer Options :

(1) Statements (a) and (b) are correct  (2) Statements (b) and (c) are correct

(3) Statements (a) and (¢) are correct  (4) All the above statements are correc

Harishchandra

74.

WA FedT=A1 YR A ST A
(a) THAG FA (i) 2 YO WHIGE YU U1 SISl Feaiedl
(b) WWAR T (i) O Yo QA YA Fereerell
(c) uiEfemasn (i) T o W3 F gE{ wEad
(d) wfeafem Fem (iv) S8 o IR o YYEEE T
gt I
(a) (b) (c) (d)
(1) (v (ii) (i) @)
(2) Gi) (iii) (1) (iv)
(3) (ii) (i) (iv) (ii)
4) @ (iv) (ii) (ii1)
Match the following for types of folds :
(a) Monoclinal fold . (i) Both limbs paralle] but inel

g _ i ined to one side
(b) IQQChnal fold (i) One limb turned over th -
() Recumbent fold \ o TRl

(iii) One limb inclined ;
(d) Overturned fold iv) Both limbs par:ﬁi e?:;l :::ht!ﬂ:;r perpendicular
Answer Options : Other and the ground
(a) (b) (e) (d)
~1) (iv) (ii) (i) @)
(2) i) (iii) (i) (iv)
(3) (ii) (i) (iv) (i)
4) ) (iv) (11) (i11)

wow] THIATA! ST | SPACE FOR ROUGH WORK \
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H15
75,

@TFﬁaQﬁ . 43

(a) ﬁﬁﬁﬁwmwm?

®) g g fge mmﬁ@mmmm
(c) Wray '

(1) fyym
o 4 :“:""‘ﬁ”b) @ fas (b) #1 (c)
a) 3nfin (c) (4) faum (a), (b) =7 (c)

Which Ing
of the following Statements are correct about Bhabhar Plains ?

&y The ity i .
Porosity is very high ang hence small rivers disappear.

(b)  The Bhabh
ar tract is suitable f,
i e for crops.
Answer Options :

(1) Statements (a) and (b) (2) Statements (b) and (c)

ts of the Bhabhar Plains are cattle-keeping Gujjars.

) Stat
A3 ements (a) and (c) (4) Statements (a), (b) and (¢)

76.

FRNTSGTEAT Srefteenfde R g -
(@) T & Aefigdien ivfie s
(b) m,dﬂmaﬁﬂraﬁéﬂwﬁm@aﬁﬁtﬁﬁﬁ.

Ae)  Ffafe v fmam wfih HRY & 3R,

gatHft 39

) Fasm (b) sfr (o s s

(2) faum (a) znfor (b) a0=7 3T
(3) faum (a), (b) 3nfv1 (c) s=T 3m2q
(4) faum (a), (b) 3nfor (c) stat AT

Observe the statements regarding agriculture in Maharashtrg -
(a) Soil erosion is not a serious problem of agriculture,

(b) Soil erosion takes place due to flooding in rivers, fopest cutting ang
an

uncontrolled grazing.

(¢) Soils are saline due to over-irrigation.

Answer Options :
(1) Statements (b) and (c) are correct

(2) Statements (a) and (b) are correct
Statements (a), (b) and (e) are correct

. Statements (a), (h) and (¢) are not correct

(4)

—p ACE FOR ROUGH WORK \
aﬁ'ﬁﬂTa;”" ;

/V fogg i T
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(4) (b) (iii) (1)

H1!
B 29
77, v famoysdaree i s diifane A,
(1) weradi s, aw g snfor sigo sy
(2) wemadi wm, s s anfor e gafafir am
(3) WA, wwwvr W anfor gewqatgofa gm
(4)  weradl wm, dgn wnn sfi gar-gafaf sm
Biosphere reserves are demarcated into
(1) Core zone, buffer zone and transition zone
(2) Core zone, buffer zone and micro ecological zone
(3) Buffer zone, transition zone and micro ecological zone
(4)  Core zone, transition zone and micro ecological zone
78. A St Wi -
SROV/A T T T
fa) fed wo gD TR
(b) geEER e () T
(¢) Tramgg wor (III) IerEs
(d) TN AT HIR FreE av) ==ies
it 3w
(1 (o) (1) (Iv)
\/2) (a) (iv) (I
(8) (d (ii) (IIT)
4) (iii) (Imn
Find the correct pair :
Dmects Rivers States
(a) Tehri (i)  Kaveri
() Dlbasti Prjios . @) Bhagirathi 53) ;:2:3 Kashmir
(¢) Shivasamudra Dam : (_iii) Chambal (1II) Uttarakhang
(d) Rana Pratap Sagar Project (iv) Chenal B | Karaat s
Answer options :
(1) (e (i) (IV)
(2) (a) (iv) (N
3 (d (i) (11D

@ved] STt AT | SPACE FOR ROUGH woan\
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H1s 30
79 q}wm
Ha = 1
@ TR o () ZEE BN
b e g i) fea waw
© S (iii)  BIERFTR TN
e - (iv) ot e
Tt Ty
(a) (b) (c) (d)
(6 V) (iii) (v)  Gi)
(2) i) Giv) Gi) )
3) (i) (i) (ii) (iv)
@) @ e :
Match the following :
Column 1 Column I1
(a)  Dome-shaped Plateau (1) Deccan Plateay
(b) Volcanie Plateau / (i) Vindhya Plateay
(e) Step-like Plateau (iii) Chota Nagpur Plateay
(d) Piedmont Plateau (iv)  Shillong Plateay
Answer Options :
(a) (h) (e) (d)
n @ o UNE S
(2 @ G @ @
@ G (1) (ii) (.lf)
. . @ G
@ v @)

TR TR RO e e L
m mm@

\
H/

- 28
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80.  wefter fawrta whiam wu snfir v gaty e -

R (A): yevem wiacrgas we varga st G fi e .
R (B) ;e dier favindt g avarend) s wgdven A e A
ot 3w ;

(1) faum (A) snfor (B) 2 wive s

(2) fawm (A) wder s favm (B) 3% sme

@) foum (A) 3% s faue (B) wte am

@) faur (A) sfer (B) 2 9 s

Examine the following statements and select the proper options :

Statement (A) : Every longitude has a different local time due to the rotation of the
Earth.

Statement (1‘3_)_’: Standard time system is utilized to remove the difference’in the loca]
time.

Answer Options :
) Statements (A) and (B) both are eorrect =
(2) Statement (A) is correct but statement (B) is wrong

(3) Statement (A) is wrong but statement (B) is correct «
(4) Statements (A) and (B) both are wrong

- mm,ﬁmmﬁaﬁrﬁmmﬁammﬁmw
R ?
(1) Iawfeem 9 (2) ZEETR gaR
@) 3 4)  ufeem g
In India, which of the following has become a hot-spot with refi
fn T NG reference to threats to

(1) Northwestern India (2) Deccan Plateay

@) Western India

WeEa] WIATHATS! ST | SPACE FOR ROUGH WORK \

(3) Northeastern India

29



(b) Itisa high biomasg producer.,

() Itisa rich floral ang fauna diversity.

(d) These are shallow water tropical ecosystems,

Which of the above statement/s is/are correct ?

(1) Only (a) and (b) (2) Only (a), (b) and (d)
(3) Only (c) ' (4)  All of the above

83‘

aaall

31w, foer 3 mar fafyyer (Alpha,BetaandGamma)mm ?
(a) HfarEt iud
(b) foegem fafqvar g

(c)

Safafayar gisvar dhiefes s

(d) =#IS (Whittaker) (1972) Tt gafacier yreard
gltedsh) o fum/fur star sma 2
(1) %ad (a) 3T (b) (2) % (b)

(3) & (c)

@ %= (c) anfiy (q)

What is Alpha, Beta and Gamma Diversity ?

(a) Richness of species
(b) Simpson’s Diversity Index

(c)

F easuring biodiversity over geographical scale
or m
Whittaker (1972) suggested these terms

(d) iven above is/are correct ?
y tatements g1
Which of the s (2)  Only (b)
(1) Only (a) and (b) J4)  Only (¢) and (d)

ly (©) RK
(3 Onh ROUGH WO
CE FOR
et o | SPA
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84.  SiiEw e

RLER | AT
(a) 39 wiw oy () uwarETd
(b)  weEmrg (i) wram garE
(¢) ufvam ama (i)  gferspa
(d) (iv) Fergmm
atdt 3w ;

(a) (b) (c) (d)
(1) Gv) (iii) (i) (11)

e={2) (i) (ii) (iii) (iv)
«13)  (iii) (i) (iv) (ii)
LZA4) (i) (1) (i) (iv)

Match the following :

State Name of Sanctuaries
(a) Andhra Pradesh (i) Radhanagari
(b) Maharashtra (i1) Bhagwan Mahavir
(c) West Bengal (iii) Pulicat
(d) Goa (iv) Jaldapara
Answer Options :

(a) (b) (c) (d)
(1) (iv) (iii) (i) (ii)
(2) (i) (i) (iii) (iv)
(3) (i) (i) (iv) (ii)
(4) (iii) (i) (i) (iv)

(b) e A

(c) &3l 9 9@

(d) = fma 3 Jaues

afierehl Fon faur/fes st s o

(1) % (a) #AT07 (b) (2) W (b)
(3) e (c) 301 (d) (4) )
Which of the following factors are included in
(a) Temperature and soil

(b) Water and soil

(c) Vegetation and water

(d)  Human functions and Biological components
Which of the statements given above 1s/are correct 9

chemical environment 9

(1)  Only (a) and (b) (2) Only ()
(3) Only (¢) and (d) (4) None of the ke
Vi
TN GRS ST | SPACE FOR ROUGH WORK \
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86, 34 P

?W’ﬁ T Ao wewi e s @ A

a) e

(b) ﬁ%' bl

o %T%

(d) mgam[ § o

N6 v vy

(1)
(3) P (@) anfor (2) w (b) 3T (c)
F (e) anfey (g (4) wfra wd

Gi - '
llowing ame e IS ST n determinasion of inlaton in Indi
. éng lox_xg-term policies are likely to help.
ANnging production patterns

g_:ﬁ Storage mfrastructure for perishable commodities
ch of the above options is/are correct ?
(1) Only (a) and (b) (2) Only (b) and (c)
(3)  Only (c) and (d) Li—All of the above
87. Wm*ﬂﬁaagmamﬁimﬁ(m)n}maﬁwmﬁwmmm g ?
(1) 3fea smmiz (2) @R I
(3) =@ gy (4) wewan
gléxlclh factor is not considered while calculating Physical Quality of Life Index
)7
A3 Infant mortality 4) Literacy

88. WV g T A (TPG) WA Fo f3ur A 318 2 (TPG — Total Poverty Gap)
_A1) q@gﬁammﬁwmmmmwmw
TPG .
S eares i = WIefl S I 3R, SR T W TPG Fy
@ e 29te 3 v e fiET A TPG .
Which of the following statements are correct about the Total Poverty Gap (TPG) 2
(1) TPG measures the total amount of income necessary to raise everyone below

rty line up to that line. '
2) - s the number of those whose incomes fall below absolute Poverty line,

TPG measures the share of total national income that each factoy of production
(3) '

recéwe:;;sures the relative degree of income inequality in 4 country,
m

5 TP
W""
Fl
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89. mmmmmmmmmﬂﬁ“@m
wreftetd Fiven wtE veas e o 2
(a) watardl nree zua wndtor gaffo
(b)  wRUH svadan sraE gua gunm (2013 - 2017)
(e) woEA & nforg Iwsifaa wigas (GOALS) (2013 - 2017)
;c:mmﬁawﬂ faum ol amar asswdE (2013 ~ 2017)
I
W) W@ @ @OEme @ b, @@ @ 4
Which of the following programmes have been supported by thed NathﬂS'
Development Programme (UNDP) along with Government of India for poverty
reduction and livelihoods promotion ?
(a) Affordable Rural Housing for All
(b) Improving Efficiency of Health Care System in Multiple States (2013 - 2017)
(&) Governance and Accelerated Livelihoods Suppert (GOALS) (2013 - 2017)
_4d) Strengthening National Capacities in Tribal Areas (2013 — 2017)

Answer Options :

(1) Only(a) (2) (a),(b)and(c) o #B) (b),(c)and(d) J4) Allofthe above
90. WEWR WEAH a1 Aty fermama st sidEwey gga FihE .

S 2011 (2) 2015 3) 2013 (4) 2019

Government of Maharashtra has adopted gender budgeting from the year

(1) 2011 (2) 2015 (3) 2013 (4) 2019
91. 2011 TA WiclieTdeh! IVl TSATT Tel [onT UL Baid HHl &l 7

(1) wAfew (2) wEmTg @) ¥ ] T waw

Which of the following States had the lowest child sex ratio in 2011 ?
(1) Karnataka (2) Maharashtra (3) Kerala (4) Madhya Pradesh

(1) A () S (b) (2) (a), (c) 3mfy (g

(3) afe |4 (4) =mh Gl

Which of the following, according to the World B ‘e {

addressed in India’s urbanisation ? ank, are critical 138ues to be

(a) Poor local governance

(b) Weak finances

(c) Inappropriate planning leading to high costs

(d) Rapidly deteriorating environment

Answer option; H :

(1) Only (a) and (b) (2) (a),(e)

\ 5,‘})/ All of the above (4)  None o?tli,( :i,we

aroe TATATE! ST / SPACE FOR ROUGH WORK

P.T.O.
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93' 36 )
(& H farary [ pe——————— 0 LTy
:h: OIS 3= 59 weaw fomra s e e, 2 e,
: R L T T S ———
“ﬂﬁﬁmz !
D) %4 (a) sy (b) (2) waa (b)
@) afeteh B L4yt 7 :
Which of the following is/are applicable to Gender Inequality Index (GID*

t and the
@) It provides ins powermen

ights into gender disparities in health, em
lab{)‘u.r market gender sparitn

(b)
(c)

Higher values in the GII indicate worse achievements.
jamentary
The empowerment dimension is partly measured by the share of parl

seats held by each gender.
Answer Options :
(1) Only (a) and (b) (2) Only (b)
(3) None of the above (4~ All of the above

94.  pfielt A srieReTer smaRe sty @refer SR/ faue/ w2
(a) # womelt 1 ufim, 2018 #n siftaeara seh.
(b) T TEqEh  HEWT WA € SOl gE el A1,
(¢) AR ol wfn Hqeid s @ aitehiga e = @ S gE HaE s

R,
gt 39
(1) e (a) S0 (b) ~(2) R (b) Ffn (o)
(3) e (a) SO (c) A4 atia wd
Which of the following statement/s is/are applicable to the web based utility —
BhoomiRashi ?

(a) It was launched on 15t April, 2018.
It has been launched by the Ministry of Road Transport and Hj -

b) L
( ) It has been introduced to fully digitize and automate the entire process of land
(e "
acquisition.
Answer Optlong :bl (2) Only (b) and (¢)
(1) Only (a)ancih (4) Al of the above

d(c)
Only (a) an
:;m‘& S | SPACE FOR ROUGH WORK
oAl
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95.  Rio+20 B TR Frine R Thedfidt et o famA 2 g ?
(1) 34 2014 721 # whwe sfgeme) g gged,
(2) a1 ftds smeaR wrae fwm op) e se.
(3) #ft sforen donfade A @ @ g i A
(4) 1 Threda e T e A e R g AU A
Which of the following statements is/are correct about UN Conference on
Sustainable Development W_ﬁﬁﬁ-ﬂ

U) The conference was held in June 2014 in Brazil.

_)2’) The conference laid out Millennium Development Goals for the world.

(3) The conference adopted guidelines on green economy policies.

(4) The member nations de-powered UN Environment Programme in this
conference.

96. Aifq s fuie fawm sfew Fdwis swaremmm (2020 — 21), H@EAEl Sl
Fmf 3@ Feifad &,

(a) wraran fydsms 2020 - 21 Wed 66 WA FUWEA HR®. A 2019 — 20 WA 60
2018 — 19 B&A 57 &l

(b) 2020 — 21 e HE Hehe FEAHTE HRAT HEAH 15 T 8 feiammg 3au vl

TR,
Sl HIVE/A TEE AT AR/A ?
(1) % (a) (2) % (b)
BT AR (4) wE g
Goal-wise performance of India by NITI Aayog SDG India Tndex e
reveals that
. Iz];?; s :;fmu score improved to 66 in 2020 ~ 21 from 60 in 2019 - 20 and 57 i
" ]359 S‘Sl;;t(e}sz.ozo =21 belg e pendansie yoay, Futs performed wel] on eight of the
Which of the above options is/are correct ?
(1) Only (a) (2)  Only (b)

(3) Both the options

(4)  None of the options
e STATATd! ST / SPACE FOR ROUGH WORK

AT.0

35



B2 R e s s

H15
97-

B
3a

ks SREA (MDGa) vt s sty arehedh) #roas FurA a3
(a)  wEs v qy ygdi mm Ayl LTy

& 3:@1'3 SRR Y fravar s wpA A aEgs w9 HOArE P e

(¢) qﬁmq r %

(1) %aad (h) afoy (©)
2) =t g4
(4) B (a) 310 (¢

Which of the following statements is/are true about Millennium Development Goals
(MDGs) achievements in India ?

(a) India has achieved the poverty reduction in an even manner,

(b) India was on-track to achieve the hunger target after the 2015 deadline,
(¢)  Empowering women remains a major development challenge.

Answer Options :

(1) Only (b) and (¢)

(2) All of the above

(3) Only(a) and (b)

) Only (a) and (o)

98.

F
V' (4 Digtal Indi2

A | SPAC
ﬂmmﬂﬂ‘a

A A H FAER S

(4) fefaea wrd

Name the online pl
Development to guppor
(1) One Stop Centre Scheme

) SWADHAR Scheme
)y Mahila [-Haat

atform launched by the Ministry of Women and Chilg
{ women pnireprencurs.
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@“WWW(NCST)@WM

(1) = (a) A2 o (a) 3001 (0)
@ v (@), (b) 3 (© @ R UG
ianal Comnn.'-hlvl\

Which of the following statements is/are correct about Nation |

Scheduled Tribes [NCST] ?

(a) It is a constitutional body which came into existence in 2004.

(b) Its function is to inquire into specific complaints with respect 10 the deprivation
of rights and safeguards of Scheduled Tribes.

(¢) It works to improve literacy rate of Tribal community.

(d) Its function is to facilitate women empowerment of Tribal women.

Answer Options :

(1) Only(a) (2) Only(a)and (b)

(3) Only (a), (b) and (¢) (4) All of the above

100.

e e ) Fe, W 2007 S WG &5 N RS gt Jar ?

(a) shomfrs @ =i T (b) wuTseafia Fea
(¢) wHTZEEE (d) HwdE He ;
watd T

(1) (e (2) % (a) 3l (h)
@3) # (a), (b) 31 (c) 4) afE wd

National Policy on Voluntary Sector (2007) covers which of '
organizations 7 of the following voluntary

(a) Formaland Informal Groups (h) Co
: e mmunity-based organizations
(¢) Charitable organizations (d) Support organ;
Answer Options :
(1) Only(e (2)  Only (a) and (p)
(3) Only (a),(®) and (¢ (4) Al of the ahove
Foe HETRE wen | SPACE FOR ROUGH WORK oS b el el
P.T.O




